Bid Abstract	Contract: 01-2023 Bridge Replacement	Project: 041-599-064 BR# 41J80, 041-599-065 BR# 41J81, 041-599-066 BR# 41J82, 041-599-067 BR# 41J94, 041-599-068 BR# 41J85, 041-599-069 BR# 41J84	Bid Opening: 11-13-2023 11:00AM
--------------	--------------------------------------	---	---------------------------------

SAP	041-	-599-064	BR#41J80 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate		A&C Excavating	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	Nu	mber	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
2	2 21	L04.503	SALVAGE FENCE	LIN FT	195	1.6	312	\$2.25	\$438.75	\$1.50	\$292.50	33.33% UNDER	\$1.50	\$292.50	33.33% UNDER	\$2.00	\$390.00	11.11% UNDER
3	3 21	L18.509	AGGREGATE SURFACING CLASS 1	TON	83	19	1577	\$16.25	\$1,348.75	\$20.00	\$1,660.00	23.08% OVER	\$17.00	\$1,411.00	4.62% OVER	\$26.00	\$2,158.00	60.00% OVER
6	5 24	42.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	3700	3700	\$4,750.00	\$4,750.00	\$3,000.00	\$3,000.00	36.84% UNDER	\$3,000.00	\$3,000.00	36.84% UNDER	\$4,000.00	\$4,000.00	15.79% UNDER
10) 25	557.603	TEMPORARY FENCE DESIGN SPECIAL	LIN FT	170	4.97	844.56	\$2.50	\$425.00	\$5.78	\$982.60	131.20% OVER	\$5.78	\$982.60	131.20% OVER	\$6.50	\$1,105.00	160.00% OVER
11	1 25	557.603	INSTALL FENCE	LIN FT	195	7.92	1544.79	\$8.00	\$1,560.00	\$7.87	\$1,534.65	1.62% UNDER	\$7.87	\$1,534.65	1.62% UNDER	\$8.00	\$1,560.00	0.00% UNDER
13	3 25	564.502	INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$30.00	\$60.00	40.00% UNDER	\$200.00	\$400.00	300.00% OVER
14	4 25	573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	56	3.18	178.08	\$3.35	\$187.60	\$3.10	\$173.60	7.46% UNDER	\$3.10	\$173.60	7.46% UNDER	\$3.50	\$196.00	4.48% OVER
15	5 25	575.504	ROLLED EROSION PREVENTION CATEGORY 20	SY	444	1.26	559.44	\$1.60	\$710.40	\$1.20	\$532.80	25.00% UNDER	\$1.20	\$532.80	25.00% UNDER	\$1.50	\$666.00	6.25% UNDER
16	5 25	575.505	SEEDING	ACRE	0.5	1020	510	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER	\$1,100.00	\$550.00	13.73% UNDER
17	7 25	575.505	DISK ANCHORING	ACRE	0.5	122	61	\$135.25	\$67.63	\$120.00	\$60.00	11.28% UNDER	\$120.00	\$60.00	11.28% UNDER	\$130.00	\$65.00	3.89% UNDER
18	3 25	575.508	SEED MIXTURE 21-111	POUND	16	1.05	16.8	\$1.25	\$20.00	\$1.00	\$16.00	20.00% UNDER	\$1.00	\$16.00	20.00% UNDER	\$1.25	\$20.00	0.00% UNDER
19	9 25	575.508	SEED MIXTURE 25-142	POUND	23	3.85	88.55	\$4.35	\$100.05	\$3.75	\$86.25	13.79% UNDER	\$3.75	\$86.25	13.79% UNDER	\$4.00	\$92.00	8.05% UNDER
20) 25	575.509	MULCH MATERIAL TYPE 1	1	213	213	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER	\$225.00	\$225.00	12.50% OVER	
			SAP 041-599-064 BR#41J80 I	Bridge Replac	ement - NC	N-PARTI	CIPATING		\$10,545.68		\$9,148.40	13.25% UNDER		\$8,859.40	15.99% UNDER		\$11,427.00	8.36% OVER

SAP	041-599	599-064 BR#41J80 Bridge Replacement - PARTICIPATING			Av	erage	Engineer	's Estimate		A&C Excavating	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	Numb	mber Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
1	2021.	21.501 MOBILIZATION	LUMP SUM	1	4220	4220	\$10,000.00	\$10,000.00	\$500.00	\$500.00	95.00% UNDER	\$2,000.00	\$2,000.00	80.00% UNDER	\$5,000.00	\$5,000.00	50.00% UNDER
4	2412.	12.502 14X5 PRECAST CONCRETE BOX CULV END SECT	EACH	2	22300	44600	\$17,500.00	\$35,000.00	\$20,000.00	\$40,000.00	14.29% OVER	\$21,000.00	\$42,000.00	20.00% OVER	\$22,000.00	\$44,000.00	25.71% OVER
5	2412.	12.503 14X5 PRECAST CONCRETE BOX CULVERT	1801	61234	\$1,775.00	\$60,350.00	\$1,670.00	\$56,780.00	5.92% UNDER	\$1,865.00	\$63,410.00	5.07% OVER	\$1,520.00	\$51,680.00	14.37% UNDER		
7	2451.	51.507 COARSE FILTER AGGREGATE (CV)	129	46.4	5985.6	\$40.75	\$5,256.75	\$35.00	\$4,515.00	14.11% UNDER	\$48.00	\$6,192.00	17.79% OVER	\$45.00	\$5,805.00	10.43% OVER	
8	2451.	51.609 GRANULAR BACKFILL	TON	110	15.2	1672	\$13.00	\$1,430.00	\$14.00	\$1,540.00	7.69% OVER	\$13.00	\$1,430.00	0.00% UNDER	\$22.00	\$2,420.00	69.23% OVER
9	2511.	11.509 RANDOM RIPRAP CLASS III	TON	162	64.8	10497.6	\$60.00	\$9,720.00	\$70.00	\$11,340.00	16.67% OVER	\$54.00	\$8,748.00	10.00% UNDER	\$85.00	\$13,770.00	41.67% OVER
12	2563.	63.601 TRAFFIC CONTROL	LUMP SUM	1	1300	1300	\$1,850.00	\$1,850.00	\$1,000.00	\$1,000.00	45.95% UNDER	\$750.00	\$750.00	59.46% UNDER	\$3,000.00	\$3,000.00	62.16% OVER
		SAP 041-599-064 E	R#41J80 Bridge I	nt - PART	CIPATING		\$123,606.75		\$115,675.00	6.42% UNDER		\$124,530.00	0.75% OVER		\$125,675.00	1.67% OVER	
		SAP 041-5	99-064 BR#41J8	0 Bridge Re	placemei	nt - TOTAL		\$134,152.43		\$124,823.40	6.95% UNDER		\$133,389.40	0.57% UNDER		\$137,102.00	2.2% OVER

SAP (41-599-06	5 BR#41J81 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate		A&C Excavating	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
2	2101.502	GRUBBING	EACH	2	310	620	\$110.00	\$220.00	\$500.00	\$1,000.00	354.55% OVER	\$200.00	\$400.00	81.82% OVER	\$600.00	\$1,200.00	445.45% OVER
3	2101.502	CLEARING	EACH	2	310	620	\$110.00	\$220.00	\$500.00	\$1,000.00	354.55% OVER	\$200.00	\$400.00	81.82% OVER	\$600.00	\$1,200.00	445.45% OVER
4	2104.503	SALVAGE FENCE	LIN FT	301	1.55	466.55	\$2.25	\$677.25	\$1.50	\$451.50	33.33% UNDER	\$1.50	\$451.50	33.33% UNDER	\$1.75	\$526.75	22.22% UNDER
5	2106.507	EXCAVATION - COMMON	CU YD	46	6.6	303.6	\$3.50	\$161.00	\$6.00	\$276.00	71.43% OVER	\$7.00	\$322.00	100.00% OVER	\$9.00	\$414.00	157.14% OVER
6	2106.507	COMMON EMBANKMENT (CV)	CU YD	98	7.8	764.4	\$2.50	\$245.00	\$6.00	\$588.00	140.00% OVER	\$5.00	\$490.00	100.00% OVER	\$19.00	\$1,862.00	660.00% OVER
7	2118.509	AGGREGATE SURFACING CLASS 1	TON	84	19	1596	\$16.25	\$1,365.00	\$20.00	\$1,680.00	23.08% OVER	\$17.00	\$1,428.00	4.62% OVER	\$26.00	\$2,184.00	60.00% OVER
10	2442.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	3600	3600	\$4,750.00	\$4,750.00	\$3,000.00	\$3,000.00	36.84% UNDER	\$3,500.00	\$3,500.00	26.32% UNDER	\$4,000.00	\$4,000.00	15.79% UNDER
13	2511.509	RANDOM RIPRAP CLASS III	TON	24	64.8	1555.2	\$60.00	\$1,440.00	\$70.00	\$1,680.00	16.67% OVER	\$54.00	\$1,296.00	10.00% UNDER	\$85.00	\$2,040.00	41.67% OVER
14	2557.603	TEMPORARY FENCE DESIGN SPECIAL	LIN FT	482	4.76	2292.39	\$2.50	\$1,205.00	\$2.00	\$964.00	20.00% UNDER	\$5.78	\$2,785.96	131.20% OVER	\$7.00	\$3,374.00	180.00% OVER
15	2557.603	INSTALL FENCE	LIN FT	301	7.87	2368.27	\$8.00	\$2,408.00	\$7.78	\$2,341.78	2.75% UNDER	\$7.78	\$2,341.78	2.75% UNDER	\$8.00	\$2,408.00	0.00% UNDER
17	2564.502	INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$30.00	\$60.00	40.00% UNDER	\$200.00	\$400.00	300.00% OVER
18	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	56	3.18	178.08	\$3.35	\$187.60	\$3.10	\$173.60	7.46% UNDER	\$3.10	\$173.60	7.46% UNDER	\$3.50	\$196.00	4.48% OVER
19	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	SY	474	1.55	734.7	\$1.60	\$758.40	\$1.50	\$711.00	6.25% UNDER	\$1.50	\$711.00	6.25% UNDER	\$1.75	\$829.50	9.38% OVER
20	2575.505	SEEDING	ACRE	1	1020	1020	\$1,275.00	\$1,275.00	\$1,000.00	\$1,000.00	21.57% UNDER	\$1,000.00	\$1,000.00	21.57% UNDER	\$1,100.00	\$1,100.00	13.73% UNDER
21	2575.505	DISK ANCHORING	ACRE	1	61	61	\$135.00	\$135.00	\$60.00	\$60.00	55.56% UNDER	\$60.00	\$60.00	55.56% UNDER	\$65.00	\$65.00	51.85% UNDER
22	2575.508	SEED MIXTURE 21-111	POUND	32	1.1	35.2	\$1.25	\$40.00	\$1.00	\$32.00	20.00% UNDER	\$1.00	\$32.00	20.00% UNDER	\$1.50	\$48.00	20.00% OVER
23	2575.508	SEED MIXTURE 25-142	POUND	47	3.85	180.95	\$4.35	\$204.45	\$3.75	\$176.25	13.79% UNDER	\$3.75	\$176.25	13.79% UNDER	\$4.00	\$188.00	8.05% UNDER
24	2575.509	MULCH MATERIAL TYPE 1	TON	2	213	426	\$200.00	\$400.00	\$210.00	\$420.00	5.00% OVER	\$210.00	\$420.00	5.00% OVER	\$225.00	\$450.00	12.50% OVER
		SAP 041-599-065 BR#41J81	Bridge Replac	ement - NC	DN-PARTI	CIPATING		\$15,791.70		\$15,654.13	0.87% UNDER		\$16,048.09	1.62% OVER		\$22,485.25	42.39% OVER

SAP (041-599	99-065	BR#41J81 Bridge Replacement - PARTICIPATING			Av	erage	Engineer	's Estimate		A&C Excavatin	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	Numb	ber	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
1	2021	1.501	MOBILIZATION	LUMP SUM	1	3150	3150	\$8,000.00	\$8,000.00	\$500.00	\$500.00	93.75% UNDER	\$2,000.00	\$2,000.00	75.00% UNDER	\$5,000.00	\$5,000.00	37.50% UNDER
8	2412	2.502	14X5 PRECAST CONCRETE BOX CULV END SECT	EACH	2	22960	45920	\$15,750.00	\$31,500.00	\$20,300.00	\$40,600.00	28.89% OVER	\$21,000.00	\$42,000.00	33.33% OVER	\$22,000.00	\$44,000.00	39.68% OVER
9	2412	2.503	14X5 PRECAST CONCRETE BOX CULVERT	LIN FT	40	1775.2	71008	\$1,625.00	\$65,000.00	\$1,650.00	\$66,000.00	1.54% OVER	\$1,776.00	\$71,040.00	9.29% OVER	\$1,500.00	\$60,000.00	7.69% UNDER
11	2451	1.507	COARSE FILTER AGGREGATE (CV) (P)	CU YD	144	46.4	6681.6	\$40.75	\$5,868.00	\$35.00	\$5,040.00	14.11% UNDER	\$48.00	\$6,912.00	17.79% OVER	\$45.00	\$6,480.00	10.43% OVER
12	2451	1.609	GRANULAR BACKFILL	TON	286	15.2	4347.2	\$13.00	\$3,718.00	\$15.00	\$4,290.00	15.38% OVER	\$13.00	\$3,718.00	0.00% UNDER	\$21.00	\$6,006.00	61.54% OVER
13	2511	1.509	RANDOM RIPRAP CLASS III	TON	131	64.8	8488.8	\$60.00	\$7,860.00	\$70.00	\$9,170.00	16.67% OVER	\$54.00	\$7,074.00	10.00% UNDER	\$85.00	\$11,135.00	41.67% OVER
16	2563	3.601	TRAFFIC CONTROL	LUMP SUM	1	1200	1200	\$1,850.00	\$1,850.00	\$500.00	\$500.00	72.97% UNDER	\$750.00	\$750.00	59.46% UNDER	\$3,000.00	\$3,000.00	62.16% OVER
			SAP 041-599-065 BR#4	CIPATING		\$123,796.00		\$126,100.00	1.86% OVER		\$133,494.00	7.83% OVER		\$135,621.00	9.55% OVER			
			SAP 041-599-	065 BR#41J81	L Bridge Rej	placemei	nt - TOTAL		\$139,587.70		\$141,754.13	1.55% OVER		\$149,542.09	7.13% OVER		\$158,106.25	13.27% OVER

SAP	041-	-599-066	BR#41J82 Bridge Replacement - NON-PARTICIPATING			Av	erage	Engineer	's Estimate		A&C Excavatin	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	e Nu	mber	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
	2 21	L04.503	SALVAGE FENCE	LIN FT	68	1.6	108.8	\$2.25	\$153.00	\$1.50	\$102.00	33.33% UNDER	\$1.50	\$102.00	33.33% UNDER	\$2.00	\$136.00	11.11% UNDER
	3 21	L06.507	COMMON EMBANKMENT (CV) (P)	CU YD	446	8.6	3835.6	\$11.00	\$4,906.00	\$6.00	\$2,676.00	45.45% UNDER	\$4.00	\$1,784.00	63.64% UNDER	\$19.00	\$8,474.00	72.73% OVER
	4 21	L18.509	AGGREGATE SURFACING CLASS 1	TON	246	18.2	4477.2	\$16.25	\$3,997.50	\$18.00	\$4,428.00	10.77% OVER	\$17.00	\$4,182.00	4.62% OVER	\$26.00	\$6,396.00	60.00% OVER
	7 24	142.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	3700	3700	\$4,750.00	\$4,750.00	\$3,000.00	\$3,000.00	36.84% UNDER	\$3,000.00	\$3,000.00	36.84% UNDER	\$4,000.00	\$4,000.00	15.79% UNDER
1	1 25	557.603	INSTALL FENCE	LIN FT	68	7.92	538.7	\$8.00	\$544.00	\$7.87	\$535.16	1.62% UNDER	\$7.87	\$535.16	1.62% UNDER	\$8.00	\$544.00	0.00% UNDER
1	3 25	564.502	INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$30.00	\$60.00	40.00% UNDER	\$200.00	\$400.00	300.00% OVER
1	4 25	573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	45	3.18	143.1	\$3.35	\$150.75	\$3.10	\$139.50	7.46% UNDER	\$3.10	\$139.50	7.46% UNDER	\$3.50	\$157.50	4.48% OVER
1	5 25	575.504	ROLLED EROSION PREVENTION CATEGORY 20	S Y	165	1.5	247.5	\$1.60	\$264.00	\$1.50	\$247.50	6.25% UNDER	\$1.50	\$247.50	6.25% UNDER	\$1.50	\$247.50	6.25% UNDER
1	6 25	575.505	SEEDING	ACRE	0.5	1040	520	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER	\$1,200.00	\$600.00	5.88% UNDER
1	7 25	575.505	DISK ANCHORING	ACRE	0.5	122	61	\$135.00	\$67.50	\$120.00	\$60.00	11.11% UNDER	\$120.00	\$60.00	11.11% UNDER	\$130.00	\$65.00	3.70% UNDER
1	8 25	575.508	SEED MIXTURE 21-111	POUND	16	1.1	17.6	\$1.25	\$20.00	\$1.00	\$16.00	20.00% UNDER	\$1.00	\$16.00	20.00% UNDER	\$1.50	\$24.00	20.00% OVER
1	9 25	575.508	SEED MIXTURE 25-142	POUND	23	3.85	88.55	\$4.35	\$100.05	\$3.75	\$86.25	13.79% UNDER	\$3.75	\$86.25	13.79% UNDER	\$4.00	\$92.00	8.05% UNDER
2	0 25	575.509	MULCH MATERIAL TYPE 1	1	213	213	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER	\$225.00	\$225.00	12.50% OVER	
			SAP 041-599-066 BR#41J82	Bridge Replac	ement - NC	ON-PART	CIPATING		\$15,890.30		\$12,100.41	23.85% UNDER		\$10,922.41	31.26% UNDER		\$21,361.00	34.43% OVER

SAP	041-599-	066 BR#41J82 Bridge Replacement - PARTICIPATING			Av	erage	Engineer	r's Estimate		A&C Excavating	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	Numbe	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
	2021.5	D1 MOBILIZATION	LUMP SUM	1	3390	3390	\$8,000.00	\$8,000.00	\$2,500.00	\$2,500.00	68.75% UNDER	\$2,000.00	\$2,000.00	75.00% UNDER	\$5,000.00	\$5,000.00	37.50% UNDER
	5 2412.5	12X5 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	20120	40240	\$17,400.00	\$34,800.00	\$17,000.00	\$34,000.00	2.30% UNDER	\$18,600.00	\$37,200.00	6.90% OVER	\$19,500.00	\$39,000.00	12.07% OVER
	5 2412.5	03 12X5 PRECAST CONCRETE BOX CULVERT	1442.2	49034.8	\$1,475.00	\$50,150.00	\$1,350.00	\$45,900.00	8.47% UNDER	\$1,586.00	\$53,924.00	7.53% OVER	\$1,250.00	\$42,500.00	15.25% UNDER		
:	3 2451.5	07 COARSE FILTER AGGREGATE (CV) (P)	CU YD	116	47.4	5498.4	\$40.75	\$4,727.00	\$35.00	\$4,060.00	14.11% UNDER	\$48.00	\$5,568.00	17.79% OVER	\$48.00	\$5,568.00	17.79% OVER
	2451.6	09 GRANULAR BACKFILL	TON	444	16.2	7192.8	\$13.00	\$5,772.00	\$18.00	\$7,992.00	38.46% OVER	\$14.50	\$6,438.00	11.54% OVER	\$22.00	\$9,768.00	69.23% OVER
1	2511.5	09 RANDOM RIPRAP CLASS III	TON	60	64.8	3888	\$60.00	\$3,600.00	\$70.00	\$4,200.00	16.67% OVER	\$54.00	\$3,240.00	10.00% UNDER	\$85.00	\$5,100.00	41.67% OVER
1	2 2563.6	D1 TRAFFIC CONTROL	LUMP SUM	1	1300	1300	\$1,850.00	\$1,850.00	\$1,000.00	\$1,000.00	45.95% UNDER	\$750.00	\$750.00	59.46% UNDER	\$3,000.00	\$3,000.00	62.16% OVER
		SAP 041-599-066 BR#	CIPATING		\$108,899.00		\$99,652.00	8.49% UNDER		\$109,120.00	0.2% OVER		\$109,936.00	0.95% OVER			
		SAP 041-599	-066 BR#41J82	2 Bridge Re	placeme	nt - TOTAL		\$124,789.30		\$111,752.41	10.45% UNDER		\$120,042.41	3.8% UNDER		\$131,297.00	5.21% OVER

SAP (041-599-0	67 BR#41J94 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate		A&C Excavating	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
2	2118.50	9 AGGREGATE SURFACING CLASS 1	TON	158	21.8	3444.4	\$16.25	\$2,567.50	\$18.00	\$2,844.00	10.77% OVER	\$17.00	\$2,686.00	4.62% OVER	\$36.00	\$5,688.00	121.54% OVER
7	2442.50	1 REMOVE EXISTING BRIDGE	LUMP SUM	1	5100	5100	\$6,250.00	\$6,250.00	\$3,500.00	\$3,500.00	44.00% UNDER	\$4,500.00	\$4,500.00	28.00% UNDER	\$5,000.00	\$5,000.00	20.00% UNDER
12	2564.50	2 INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$30.00	\$60.00	40.00% UNDER	\$200.00	\$400.00	300.00% OVER
13	2573.50	3 SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	60	3.18	190.8	\$3.35	\$201.00	\$3.10	\$186.00	7.46% UNDER	\$3.10	\$186.00	7.46% UNDER	\$3.50	\$210.00	4.48% OVER
14	2575.50	4 ROLLED EROSION PREVENTION CATEGORY 20	SY	324	1.6	518.4	\$1.60	\$518.40	\$1.50	\$486.00	6.25% UNDER	\$1.50	\$486.00	6.25% UNDER	\$2.00	\$648.00	25.00% OVER
15	2575.50	5 SEEDING	ACRE	0.5	1040	520	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER	\$1,200.00	\$600.00	5.88% UNDER
16	2575.50	5 DISK ANCHORING	ACRE	0.5	126	63	\$135.25	\$67.63	\$120.00	\$60.00	11.28% UNDER	\$120.00	\$60.00	11.28% UNDER	\$150.00	\$75.00	10.90% OVER
17	2575.50	8 SEED MIXTURE 21-111	POUND	16	1.1	17.6	\$1.25	\$20.00	\$1.00	\$16.00	20.00% UNDER	\$1.00	\$16.00	20.00% UNDER	\$1.50	\$24.00	20.00% OVER
18	2575.50	8 SEED MIXTURE 25-142	POUND	23	3.85	88.55	\$4.35	\$100.05	\$3.75	\$86.25	13.79% UNDER	\$3.75	\$86.25	13.79% UNDER	\$4.00	\$92.00	8.05% UNDER
19	2575.50	9 MULCH MATERIAL TYPE 1	168.2	168.2	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER	\$1.00	\$1.00	99.50% UNDER		
		SAP 041-599-067 BR#41J94	Bridge Replac	ement - NC	N-PARTI	CIPATING		\$10,662.08		\$7,988.25	25.08% UNDER		\$8,790.25	17.56% UNDER		\$12,738.00	19.47% OVER

SAP	041	-599-067	8 8 8 1 9 1 9 1 9 1 9 1 9 1 9 1 9 1 9 1			Av	erage	Engineer	's Estimate		A&C Excavating	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	e Nu	umber	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
	1 20	021.501	MOBILIZATION	LUMP SUM	1	4320	4320	\$8,750.00	\$8,750.00	\$500.00	\$500.00	94.29% UNDER	\$2,000.00	\$2,000.00	77.14% UNDER	\$10,000.00	\$10,000.00	14.29% OVER
	3 24	412.502	16X5 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	17600	35200	\$21,600.00	\$43,200.00	\$16,500.00	\$33,000.00	23.61% UNDER	\$18,000.00	\$36,000.00	16.67% UNDER	\$19,000.00	\$38,000.00	12.04% UNDER
	4 24	412.502	16X6 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	24140	48280	\$24,000.00	\$48,000.00	\$19,700.00	\$39,400.00	17.92% UNDER	\$21,000.00	\$42,000.00	12.50% UNDER	\$21,500.00	\$43,000.00	10.42% UNDER
	5 24	412.503	16X5 PRECAST CONCRETE BOX CULVERT	38	2018.6	76706.8	\$1,925.00	\$73,150.00	\$1,900.00	\$72,200.00	1.30% UNDER	\$1,950.00	\$74,100.00	1.30% OVER	\$1,668.00	\$63,384.00	13.35% UNDER	
	6 24	412.503	16X6 PRECAST CONCRETE BOX CULVERT	LIN FT	38	2002	76076	\$2,050.00	\$77,900.00	\$2,000.00	\$76,000.00	2.44% UNDER	\$1,995.00	\$75,810.00	2.68% UNDER	\$1,840.00	\$69,920.00	10.24% UNDER
	8 24	451.507	COARSE FILTER AGGREGATE (CV) (P)	CU YD	267	47.6	12709.2	\$40.75	\$10,880.25	\$35.00	\$9,345.00	14.11% UNDER	\$48.00	\$12,816.00	17.79% OVER	\$48.00	\$12,816.00	17.79% OVER
	9 24	451.609	GRANULAR BACKFILL	TON	164	18.4	3017.6	\$13.00	\$2,132.00	\$15.00	\$2,460.00	15.38% OVER	\$13.00	\$2,132.00	0.00% UNDER	\$32.00	\$5,248.00	146.15% OVER
1	0 25	511.509	RANDOM RIPRAP CLASS III	TON	239	65.4	15630.6	\$60.00	\$14,340.00	\$70.00	\$16,730.00	16.67% OVER	\$57.00	\$13,623.00	5.00% UNDER	\$85.00	\$20,315.00	41.67% OVER
1	1 25	563.601	TRAFFIC CONTROL	1200	1200	\$1,200.00	\$1,200.00	\$500.00	\$500.00	58.33% UNDER	\$750.00	\$750.00	37.50% UNDER	\$3,000.00	\$3,000.00	150.00% OVER		
			SAP 041-599-067 BR#4	Replacemer	t - PART	ICIPATING		\$279,552.25		\$250,135.00	10.52% UNDER		\$259,231.00	7.27% UNDER		\$265,683.00	4.96% UNDER	
			SAP 041-599-	067 BR#41J94	I Bridge Re	placeme	nt - TOTAL		\$290,214.33		\$258,123.25	11.06% UNDER		\$268,021.25	7.65% UNDER		\$278,421.00	4.06% UNDER

SAP	041-599	068 BR#41J85 Bridge Replacement - NON-PARTICIPATING			Av	erage	Engineer	's Estimate		A&C Excavating	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	Numbe	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
	2118.5	09 AGGREGATE SURFACING CLASS 1	TON	218	19.4	4229.2	\$16.25	\$3,542.50	\$18.00	\$3,924.00	10.77% OVER	\$17.00	\$3,706.00	4.62% OVER	\$29.00	\$6,322.00	78.46% OVER
	2442.5	01 REMOVE EXISTING BRIDGE	LUMP SUM	1	2700	2700	\$6,250.00	\$6,250.00	\$2,000.00	\$2,000.00	68.00% UNDER	\$2,000.00	\$2,000.00	68.00% UNDER	\$4,000.00	\$4,000.00	36.00% UNDER
1	2564.5	02 INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$30.00	\$60.00	40.00% UNDER	\$200.00	\$400.00	300.00% OVER
1	2573.5	03 SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	120	3.18	381.6	\$3.35	\$402.00	\$3.10	\$372.00	7.46% UNDER	\$3.10	\$372.00	7.46% UNDER	\$3.50	\$420.00	4.48% OVER
1	2575.5	04 ROLLED EROSION PREVENTION CATEGORY 20	S Y	403	1.6	644.8	\$1.60	\$644.80	\$1.50	\$604.50	6.25% UNDER	\$1.50	\$604.50	6.25% UNDER	\$2.00	\$806.00	25.00% OVER
1	2575.5	05 SEEDING	ACRE	0.5	1040	520	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER	\$1,200.00	\$600.00	5.88% UNDER
1	2575.5	05 DISK ANCHORING	ACRE	0.4	124	49.6	\$135.00	\$54.00	\$120.00	\$48.00	11.11% UNDER	\$120.00	\$48.00	11.11% UNDER	\$140.00	\$56.00	3.70% OVER
1	2575.5	08 SEED MIXTURE 21-111	POUND	16	1.2	19.2	\$1.25	\$20.00	\$1.00	\$16.00	20.00% UNDER	\$1.00	\$16.00	20.00% UNDER	\$2.00	\$32.00	60.00% OVER
1	2575.5	08 SEED MIXTURE 25-142	POUND	23	3.95	90.85	\$4.35	\$100.05	\$3.75	\$86.25	13.79% UNDER	\$3.75	\$86.25	13.79% UNDER	\$4.50	\$103.50	3.45% OVER
1	2575.5	09 MULCH MATERIAL TYPE 1	218	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER	\$250.00	\$250.00	25.00% OVER			
		SAP 041-599-068 BR#41J85	Bridge Replac	ement - NC	N-PART	CIPATING		\$11,950.85		\$7,860.75	34.22% UNDER		\$7,602.75	36.38% UNDER		\$12,989.50	8.69% OVER

SAP	041-59	99-068	BR#41J85 Bridge Replacement - PARTICIPATING			Av	erage	Engineer	's Estimate		A&C Excavating	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	Num	nber	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
1	1 202:	1.501	MOBILIZATION	LUMP SUM	1	3700	3700	\$8,000.00	\$8,000.00	\$500.00	\$500.00	93.75% UNDER	\$2,000.00	\$2,000.00	75.00% UNDER	\$5,000.00	\$5,000.00	37.50% UNDER
3	3 241	2.502	12X5 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	15480	30960	\$17,400.00	\$34,800.00	\$13,500.00	\$27,000.00	22.41% UNDER	\$15,400.00	\$30,800.00	11.49% UNDER	\$16,000.00	\$32,000.00	8.05% UNDER
4	4 2412	2.503	12X5 PRECAST CONCRETE BOX CULVERT	LIN FT	42	1463.8	61479.6	\$1,475.00	\$61,950.00	\$1,350.00	\$56,700.00	8.47% UNDER	\$1,484.00	\$62,328.00	0.61% OVER	\$1,235.00	\$51,870.00	16.27% UNDER
6	5 245:	51.507	COARSE FILTER AGGREGATE (CV) (P)	129	47.4	6114.6	\$40.75	\$5,256.75	\$35.00	\$4,515.00	14.11% UNDER	\$48.00	\$6,192.00	17.79% OVER	\$47.00	\$6,063.00	15.34% OVER	
7	7 245:	51.609	GRANULAR BACKFILL	TON	113	17	1921	\$13.00	\$1,469.00	\$15.00	\$1,695.00	15.38% OVER	\$13.00	\$1,469.00	0.00% UNDER	\$28.00	\$3,164.00	115.38% OVER
8	3 251	1.509	RANDOM RIPRAP CLASS III	TON	179	65.4	11706.6	\$60.00	\$10,740.00	\$70.00	\$12,530.00	16.67% OVER	\$57.00	\$10,203.00	5.00% UNDER	\$85.00	\$15,215.00	41.67% OVER
9	256	53.601	TRAFFIC CONTROL	LUMP SUM	1	1200	1200	\$1,850.00	\$1,850.00	\$500.00	\$500.00	72.97% UNDER	\$750.00	\$750.00	59.46% UNDER	\$3,000.00	\$3,000.00	62.16% OVER
			SAP 041-599-068 BR#4	eplacemer	nt - PART	CIPATING		\$124,065.75		\$103,440.00	16.62% UNDER		\$113,742.00	8.32% UNDER		\$116,312.00	6.25% UNDER	
			SAP 041-599-	068 BR#41J85	Bridge Re	placemei	nt - TOTAL		\$136,016.60		\$111,300.75	18.17% UNDER		\$121,344.75	10.79% UNDER		\$129,301.50	4.94% UNDER

SAP	P 041	1-599-069	BR #41J84 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate	4	A&C Excavatin	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	e N	umber	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
	2 2	2118.509	AGGREGATE SURFACING CLASS 1	TON	162	22.2	3596.4	\$13.25	\$2,146.50	\$18.00	\$2,916.00	35.85% OVER	\$17.00	\$2,754.00	28.30% OVER	\$37.00	\$5,994.00	179.25% OVER
	5 2	2442.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	4000	4000	\$4,750.00	\$4,750.00	\$3,000.00	\$3,000.00	36.84% UNDER	\$4,000.00	\$4,000.00	15.79% UNDER	\$4,500.00	\$4,500.00	5.26% UNDER
	8 2	2502.503	6" PERF PE PIPE DRAIN	LIN FT	20	19.4	388	\$12.50	\$250.00	\$20.00	\$400.00	60.00% OVER	\$30.00	\$600.00	140.00% OVER	\$15.00	\$300.00	20.00% OVER
	9 2	2502.602	DRAIN OUTLET DESIGN SPECIAL	EACH	1	730	730	\$500.00	\$500.00	\$500.00	\$500.00	0.00% UNDER	\$800.00	\$800.00	60.00% OVER	\$1,500.00	\$1,500.00	200.00% OVER
1	2 2	2564.502	INSTALL MARKER	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$30.00	\$60.00	40.00% UNDER	\$200.00	\$400.00	300.00% OVER		
1	.3 2	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	30	3.18	95.4	\$3.35	\$100.50	\$3.10	\$93.00	7.46% UNDER	\$3.10	\$93.00	7.46% UNDER	\$3.50	\$105.00	4.48% OVER
1	4 2	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	S Y	248	1.6	396.8	\$1.60	\$396.80	\$1.50	\$372.00	6.25% UNDER	\$1.50	\$372.00	6.25% UNDER	\$2.00	\$496.00	25.00% OVER
1	.5 2	2575.505	SEEDING	ACRE	0.5	1100	550	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER	\$1,500.00	\$750.00	17.65% OVER
1	.6 2	2575.505	DISK ANCHORING	ACRE	0.5	110	55	\$135.00	\$67.50	\$100.00	\$50.00	25.93% UNDER	\$100.00	\$50.00	25.93% UNDER	\$150.00	\$75.00	11.11% OVER
1	7 2	2575.508	SEED MIXTURE 21-111	POUND	31	1.2	37.2	\$1.25	\$38.75	\$1.00	\$31.00	20.00% UNDER	\$1.00	\$31.00	20.00% UNDER	\$2.00	\$62.00	60.00% OVER
1	.8 2	2575.508	SEED MIXTURE 25-142	88.55	\$4.35	\$100.05	\$3.75	\$86.25	13.79% UNDER	\$3.75	\$86.25	13.79% UNDER	\$4.00	\$92.00	8.05% UNDER			
1	.9 2	2575.509	MULCH MATERIAL TYPE 1	TON	1	218	218	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER	\$250.00	\$250.00	25.00% OVER
			SAP 041-599-069 BR #41J84	Bridge Replac	ement - NC	N-PART	CIPATING		\$9,287.60		\$8,258.25	11.08% UNDER		\$9,556.25	2.89% OVER		\$14,524.00	56.38% OVER

SAP	041-599	599-069 BR #41J84 Bridge Replacement - PARTICIPATING			Av	erage	Engineer	's Estimate		A&C Excavating	g, LLC		R&G Construc	tion	Towne	& Country Exc	avation LLC
Line	Numbe	nber Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	Price	Total	% Over/Under
	1 2021.	21.501 MOBILIZATION	LUMP SUM	1	3430	3430	\$8,000.00	\$8,000.00	\$500.00	\$500.00	93.75% UNDER	\$2,000.00	\$2,000.00	75.00% UNDER	\$5,000.00	\$5,000.00	37.50% UNDER
	3 2412.	12.502 14X6 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	18850	37700	\$18,900.00	\$37,800.00	\$17,500.00	\$35,000.00	7.41% UNDER	\$18,500.00	\$37,000.00	2.12% UNDER	\$19,000.00	\$38,000.00	0.53% OVER
4	4 2412.	12.503 14X6 PRECAST CONCRETE BOX CULVERT	LIN FT	42	1793	75306	\$1,825.00	\$76,650.00	\$1,700.00	\$71,400.00	6.85% UNDER	\$1,830.00	\$76,860.00	0.27% OVER	\$1,560.00	\$65,520.00	14.52% UNDER
(5 2451.	51.507 COARSE FILTER AGGREGATE (CV) (P)	CU YD	156	49.8	7768.8	\$40.75	\$6,357.00	\$35.00	\$5,460.00	14.11% UNDER	\$48.00	\$7,488.00	17.79% OVER	\$54.00	\$8,424.00	32.52% OVER
	7 2451.	51.609 GRANULAR BACKFILL	TON	150	19.4	2910	\$13.00	\$1,950.00	\$15.00	\$2,250.00	15.38% OVER	\$15.00	\$2,250.00	15.38% OVER	\$32.00	\$4,800.00	146.15% OVER
10	2511.	11.509 RANDOM RIPRAP CLASS III	TON	144	65.2	9388.8	\$60.00	\$8,640.00	\$70.00	\$10,080.00	16.67% OVER	\$57.00	\$8,208.00	5.00% UNDER	\$84.00	\$12,096.00	40.00% OVER
1	1 2563.	53.601 TRAFFIC CONTROL	LUMP SUM	1	1200	1200	\$1,000.00	\$1,000.00	\$500.00	\$500.00	50.00% UNDER	\$750.00	\$750.00	25.00% UNDER	\$3,000.00	\$3,000.00	200.00% OVER
		SAP 041-599-069 BR #	nt - PART	ICIPATING		\$140,397.00		\$125,190.00	10.83% UNDER		\$134,556.00	4.16% UNDER		\$136,840.00	2.53% UNDER		
		SAP 041-599	-069 BR #41J8	4 Bridge Re	placeme	nt - TOTAL		\$149,684.60		\$133,448.25	10.85% UNDER		\$144,112.25	3.72% UNDER		\$151,364.00	1.12% OVER

SAP	041-599-06	4 BR#41J80 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contract	ting LLC	J	ohn Riley Cons	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
2	2104.503	SALVAGE FENCE	LIN FT	195	1.6	312	\$2.25	\$438.75	\$1.50	\$292.50	33.33% UNDER	\$1.50	\$292.50	33.33% UNDER
3	2118.509	AGGREGATE SURFACING CLASS 1	TON	83	19	1577	\$16.25	\$1,348.75	\$16.00	\$1,328.00	1.54% UNDER	\$16.00	\$1,328.00	1.54% UNDER
6	2442.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	3700	3700	\$4,750.00	\$4,750.00	\$1,500.00	\$1,500.00	68.42% UNDER	\$7,000.00	\$7,000.00	47.37% OVER
10	2557.603	TEMPORARY FENCE DESIGN SPECIAL	LIN FT	170	4.97	844.56	\$2.50	\$425.00	\$1.00	\$170.00	60.00% UNDER	\$5.78	\$982.60	131.20% OVER
11	2557.603	INSTALL FENCE	LIN FT	195	7.92	1544.79	\$8.00	\$1,560.00	\$8.00	\$1,560.00	0.00% UNDER	\$7.87	\$1,534.65	1.62% UNDER
13	2564.502	INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$100.00	\$200.00	100.00% OVER
14	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	56	3.18	178.08	\$3.35	\$187.60	\$3.10	\$173.60	7.46% UNDER	\$3.10	\$173.60	7.46% UNDER
15	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	SY	444	1.26	559.44	\$1.60	\$710.40	\$1.20	\$532.80	25.00% UNDER	\$1.20	\$532.80	25.00% UNDER
16	2575.505	SEEDING	ACRE	0.5	1020	510	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER
17	2575.505	DISK ANCHORING	ACRE	0.5	122	61	\$135.25	\$67.63	\$120.00	\$60.00	11.28% UNDER	\$120.00	\$60.00	11.28% UNDER
18	2575.508	SEED MIXTURE 21-111	POUND	16	1.05	16.8	\$1.25	\$20.00	\$1.00	\$16.00	20.00% UNDER	\$1.00	\$16.00	20.00% UNDER
19	2575.508	SEED MIXTURE 25-142	POUND	23	3.85	88.55	\$4.35	\$100.05	\$4.00	\$92.00	8.05% UNDER	\$3.75	\$86.25	13.79% UNDER
20	2575.509	MULCH MATERIAL TYPE 1	TON	1	213	213	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER
		SAP 041-599-064 BR#41J80 E	ridge Replac	ement - NO	ON-PARTI	CIPATING		\$10,545.68		\$6,534.90	38.03% UNDER		\$12,916.40	22.48% OVER

SAP	041-599-064	BR#41J80 Bridge Replacement - PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contract	ing LLC		lohn Riley Cons	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
1	2021.501	MOBILIZATION	LUMP SUM	1	4220	4220	\$10,000.00	\$10,000.00	\$7,350.00	\$7,350.00	26.50% UNDER	\$6,250.00	\$6,250.00	37.50% UNDER
4	2412.502	14X5 PRECAST CONCRETE BOX CULV END SECT	EACH	2	22300	44600	\$17,500.00	\$35,000.00	\$23,500.00	\$47,000.00	34.29% OVER	\$25,000.00	\$50,000.00	42.86% OVER
5	2412.503	14X5 PRECAST CONCRETE BOX CULVERT	LIN FT	34	1801	61234	\$1,775.00	\$60,350.00	\$1,950.00	\$66,300.00	9.86% OVER	\$2,000.00	\$68,000.00	12.68% OVER
7	2451.507	COARSE FILTER AGGREGATE (CV)	CU YD	129	46.4	5985.6	\$40.75	\$5,256.75	\$63.00	\$8,127.00	54.60% OVER	\$41.00	\$5,289.00	0.61% OVER
8	2451.609	GRANULAR BACKFILL	TON	110	15.2	1672	\$13.00	\$1,430.00	\$14.00	\$1,540.00	7.69% OVER	\$13.00	\$1,430.00	0.00% UNDER
9	2511.509	RANDOM RIPRAP CLASS III	TON	162	64.8	10497.6	\$60.00	\$9,720.00	\$65.00	\$10,530.00	8.33% OVER	\$50.00	\$8,100.00	16.67% UNDER
12	2563.601	TRAFFIC CONTROL	LUMP SUM	1	1300	1300	\$1,850.00	\$1,850.00	\$750.00	\$750.00	59.46% UNDER	\$1,000.00	\$1,000.00	45.95% UNDER
		SAP 041-599-064 BR#4	Replacemer	t - PARTI	CIPATING		\$123,606.75		\$141,597.00	14.55% OVER		\$140,069.00	13.32% OVER	
		SAP 041-599-0	064 BR#41J80) Bridge Re	placemer	t - TOTAL		\$134,152.43		\$148,131.90	10.42% OVER		\$152,985.40	14.04% OVER

SAP	041-599-06	5 BR#41J81 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contract	ting LLC	J	ohn Riley Cons	t. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
2	2101.502	GRUBBING	EACH	2	310	620	\$110.00	\$220.00	\$50.00	\$100.00	54.55% UNDER	\$200.00	\$400.00	81.82% OVER
3	2101.502	CLEARING	EACH	2	310	620	\$110.00	\$220.00	\$50.00	\$100.00	54.55% UNDER	\$200.00	\$400.00	81.82% OVER
4	2104.503	SALVAGE FENCE	LIN FT	301	1.55	466.55	\$2.25	\$677.25	\$1.50	\$451.50	33.33% UNDER	\$1.50	\$451.50	33.33% UNDER
5	2106.507	EXCAVATION - COMMON	CU YD	46	6.6	303.6	\$3.50	\$161.00	\$6.00	\$276.00	71.43% OVER	\$5.00	\$230.00	42.86% OVER
6	2106.507	COMMON EMBANKMENT (CV)	CU YD	98	7.8	764.4	\$2.50	\$245.00	\$6.00	\$588.00	140.00% OVER	\$3.00	\$294.00	20.00% OVER
7	2118.509	AGGREGATE SURFACING CLASS 1	TON	84	19	1596	\$16.25	\$1,365.00	\$16.00	\$1,344.00	1.54% UNDER	\$16.00	\$1,344.00	1.54% UNDER
10	2442.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	3600	3600	\$4,750.00	\$4,750.00	\$1,500.00	\$1,500.00	68.42% UNDER	\$6,000.00	\$6,000.00	26.32% OVER
13	2511.509	RANDOM RIPRAP CLASS III	TON	24	64.8	1555.2	\$60.00	\$1,440.00	\$65.00	\$1,560.00	8.33% OVER	\$50.00	\$1,200.00	16.67% UNDER
14	2557.603	TEMPORARY FENCE DESIGN SPECIAL	LIN FT	482	4.76	2292.39	\$2.50	\$1,205.00	\$1.00	\$482.00	60.00% UNDER	\$8.00	\$3,856.00	220.00% OVER
15	2557.603	INSTALL FENCE	LIN FT	301	7.87	2368.27	\$8.00	\$2,408.00	\$8.00	\$2,408.00	0.00% UNDER	\$7.78	\$2,341.78	2.75% UNDER
17	2564.502	INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$100.00	\$200.00	100.00% OVER
18	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	56	3.18	178.08	\$3.35	\$187.60	\$3.10	\$173.60	7.46% UNDER	\$3.10	\$173.60	7.46% UNDER
19	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	S Y	474	1.55	734.7	\$1.60	\$758.40	\$1.50	\$711.00	6.25% UNDER	\$1.50	\$711.00	6.25% UNDER
20	2575.505	SEEDING	ACRE	1	1020	1020	\$1,275.00	\$1,275.00	\$1,000.00	\$1,000.00	21.57% UNDER	\$1,000.00	\$1,000.00	21.57% UNDER
21	2575.505	DISK ANCHORING	ACRE	1	61	61	\$135.00	\$135.00	\$60.00	\$60.00	55.56% UNDER	\$60.00	\$60.00	55.56% UNDER
22	2575.508	SEED MIXTURE 21-111	POUND	32	1.1	35.2	\$1.25	\$40.00	\$1.00	\$32.00	20.00% UNDER	\$1.00	\$32.00	20.00% UNDER
23	2575.508	SEED MIXTURE 25-142	POUND	47	3.85	180.95	\$4.35	\$204.45	\$4.00	\$188.00	8.05% UNDER	\$3.75	\$176.25	13.79% UNDER
24	2575.509	MULCH MATERIAL TYPE 1	2	213	426	\$200.00	\$400.00	\$210.00	\$420.00	5.00% OVER	\$210.00	\$420.00	5.00% OVER	
		SAP 041-599-065 BR#41J81 B	Bridge Replac	ement - NC	ON-PARTI	CIPATING		\$15,791.70		\$11,494.10	27.21% UNDER		\$19,290.13	22.15% OVER

SAP	041-599-06	5 BR#41J81 Bridge Replacement - PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contract	ting LLC	J	lohn Riley Cons	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
1	2021.501	MOBILIZATION	LUMP SUM	1	3150	3150	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00	62.50% UNDER	\$5,250.00	\$5,250.00	34.37% UNDER
8	2412.502	14X5 PRECAST CONCRETE BOX CULV END SECT	EACH	2	22960	45920	\$15,750.00	\$31,500.00	\$23,500.00	\$47,000.00	49.21% OVER	\$28,000.00	\$56,000.00	77.78% OVER
9	2412.503	14X5 PRECAST CONCRETE BOX CULVERT	LIN FT	40	1775.2	71008	\$1,625.00	\$65,000.00	\$1,950.00	\$78,000.00	20.00% OVER	\$2,000.00	\$80,000.00	23.08% OVER
11	2451.507	COARSE FILTER AGGREGATE (CV) (P)	CU YD	144	46.4	6681.6	\$40.75	\$5,868.00	\$63.00	\$9,072.00	54.60% OVER	\$41.00	\$5,904.00	0.61% OVER
12	2451.609	GRANULAR BACKFILL	TON	286	15.2	4347.2	\$13.00	\$3,718.00	\$14.00	\$4,004.00	7.69% OVER	\$13.00	\$3,718.00	0.00% UNDER
13	2511.509	RANDOM RIPRAP CLASS III	TON	131	64.8	8488.8	\$60.00	\$7,860.00	\$65.00	\$8,515.00	8.33% OVER	\$50.00	\$6,550.00	16.67% UNDER
16	2563.601	TRAFFIC CONTROL	LUMP SUM	1	1200	1200	\$1,850.00	\$1,850.00	\$750.00	\$750.00	59.46% UNDER	\$1,000.00	\$1,000.00	45.95% UNDER
		SAP 041-599-065 BR#4	1J81 Bridge R	eplacemer	t - PARTI	CIPATING		\$123,796.00		\$150,341.00	21.44% OVER		\$158,422.00	27.97% OVER
		SAP 041-599-()65 BR#41J81	Bridge Re	placemer	nt - TOTAL		\$139,587.70		\$161,835.10	15.94% OVER		\$177,712.13	27.31% OVER

SAP	041-599-06	6 BR#41J82 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contract	ing LLC	L I	ohn Riley Cons	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
2	2104.503	SALVAGE FENCE	LIN FT	68	1.6	108.8	\$2.25	\$153.00	\$1.50	\$102.00	33.33% UNDER	\$1.50	\$102.00	33.33% UNDER
3	2106.507	COMMON EMBANKMENT (CV) (P)	CU YD	446	8.6	3835.6	\$11.00	\$4,906.00	\$6.00	\$2,676.00	45.45% UNDER	\$8.00	\$3,568.00	27.27% UNDER
4	2118.509	AGGREGATE SURFACING CLASS 1	TON	246	18.2	4477.2	\$16.25	\$3,997.50	\$16.00	\$3,936.00	1.54% UNDER	\$14.00	\$3,444.00	13.85% UNDER
7	2442.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	3700	3700	\$4,750.00	\$4,750.00	\$1,500.00	\$1,500.00	68.42% UNDER	\$7,000.00	\$7,000.00	47.37% OVER
11	2557.603	INSTALL FENCE	LIN FT	68	7.92	538.7	\$8.00	\$544.00	\$8.00	\$544.00	0.00% UNDER	\$7.87	\$535.16	1.62% UNDER
13	2564.502	INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$100.00	\$200.00	100.00% OVER
14	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	45	3.18	143.1	\$3.35	\$150.75	\$3.10	\$139.50	7.46% UNDER	\$3.10	\$139.50	7.46% UNDER
15	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	S Y	165	1.5	247.5	\$1.60	\$264.00	\$1.50	\$247.50	6.25% UNDER	\$1.50	\$247.50	6.25% UNDER
16	2575.505	SEEDING	ACRE	0.5	1040	520	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER
17	2575.505	DISK ANCHORING	ACRE	0.5	122	61	\$135.00	\$67.50	\$120.00	\$60.00	11.11% UNDER	\$120.00	\$60.00	11.11% UNDER
18	2575.508	SEED MIXTURE 21-111	POUND	16	1.1	17.6	\$1.25	\$20.00	\$1.00	\$16.00	20.00% UNDER	\$1.00	\$16.00	20.00% UNDER
19	2575.508	SEED MIXTURE 25-142	POUND	23	3.85	88.55	\$4.35	\$100.05	\$4.00	\$92.00	8.05% UNDER	\$3.75	\$86.25	13.79% UNDER
20	2575.509	MULCH MATERIAL TYPE 1	1	213	213	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER	
		SAP 041-599-066 BR#41J82 B	Bridge Replac	ement - NO	ON-PARTI	CIPATING		\$15,890.30		\$10,123.00	36.29% UNDER		\$16,108.41	1.37% OVER

SAP	041-599-0	6 BR#41J82 Bridge Replacement - PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contract	ting LLC	J	lohn Riley Cons	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
1	2021.50	MOBILIZATION	LUMP SUM	1	3390	3390	\$8,000.00	\$8,000.00	\$2,200.00	\$2,200.00	72.50% UNDER	\$5,250.00	\$5,250.00	34.37% UNDER
5	2412.50	12X5 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	20120	40240	\$17,400.00	\$34,800.00	\$18,500.00	\$37,000.00	6.32% OVER	\$27,000.00	\$54,000.00	55.17% OVER
6	2412.50	12X5 PRECAST CONCRETE BOX CULVERT	LIN FT	34	1442.2	49034.8	\$1,475.00	\$50,150.00	\$1,525.00	\$51,850.00	3.39% OVER	\$1,500.00	\$51,000.00	1.69% OVER
8	2451.50	COARSE FILTER AGGREGATE (CV) (P)	CU YD	116	47.4	5498.4	\$40.75	\$4,727.00	\$63.00	\$7,308.00	54.60% OVER	\$43.00	\$4,988.00	5.52% OVER
9	2451.60	GRANULAR BACKFILL	TON	444	16.2	7192.8	\$13.00	\$5,772.00	\$14.00	\$6,216.00	7.69% OVER	\$12.50	\$5,550.00	3.85% UNDER
10	2511.50	RANDOM RIPRAP CLASS III	TON	60	64.8	3888	\$60.00	\$3,600.00	\$65.00	\$3,900.00	8.33% OVER	\$50.00	\$3,000.00	16.67% UNDER
12	2563.60	TRAFFIC CONTROL	LUMP SUM	1	1300	1300	\$1,850.00	\$1,850.00	\$750.00	\$750.00	59.46% UNDER	\$1,000.00	\$1,000.00	45.95% UNDER
		SAP 041-599-066 BR#4	1J82 Bridge F	Replacemer	t - PARTI	CIPATING		\$108,899.00		\$109,224.00	0.3% OVER		\$124,788.00	14.59% OVER
		SAP 041-599-)66 BR#41J82	2 Bridge Re	placemer	it - TOTAL		\$124,789.30		\$119,347.00	4.36% UNDER		\$140,896.41	12.91% OVER

SAP (41-599-06	7 BR#41J94 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contrac	ting LLC	J	ohn Riley Con	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
2	2118.509	AGGREGATE SURFACING CLASS 1	TON	158	21.8	3444.4	\$16.25	\$2,567.50	\$16.00	\$2,528.00	1.54% UNDER	\$22.00	\$3,476.00	35.38% OVER
7	2442.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	5100	5100	\$6,250.00	\$6,250.00	\$2,500.00	\$2,500.00	60.00% UNDER	\$10,000.00	\$10,000.00	60.00% OVER
12	2564.502	INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$100.00	\$200.00	100.00% OVER
13	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	60	3.18	190.8	\$3.35	\$201.00	\$3.10	\$186.00	7.46% UNDER	\$3.10	\$186.00	7.46% UNDER
14	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	SY	324	1.6	518.4	\$1.60	\$518.40	\$1.50	\$486.00	6.25% UNDER	\$1.50	\$486.00	6.25% UNDER
15	2575.505	SEEDING	ACRE	0.5	1040	520	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER
16	2575.505	DISK ANCHORING	ACRE	0.5	126	63	\$135.25	\$67.63	\$120.00	\$60.00	11.28% UNDER	\$120.00	\$60.00	11.28% UNDER
17	2575.508	SEED MIXTURE 21-111	POUND	16	1.1	17.6	\$1.25	\$20.00	\$1.00	\$16.00	20.00% UNDER	\$1.00	\$16.00	20.00% UNDER
18	2575.508	SEED MIXTURE 25-142	POUND	23	3.85	88.55	\$4.35	\$100.05	\$4.00	\$92.00	8.05% UNDER	\$3.75	\$86.25	13.79% UNDER
19	2575.509	MULCH MATERIAL TYPE 1	TON	1	168.2	168.2	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER
		SAP 041-599-067 BR#41J94 B	Bridge Replac	ement - NC	DN-PARTI	CIPATING		\$10,662.08		\$6,678.00	37.37% UNDER		\$15,220.25	42.75% OVER

SAP	41-599-06	7 BR#41J94 Bridge Replacement - PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contrac	ting LLC	J	lohn Riley Cons	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
1	2021.501	MOBILIZATION	LUMP SUM	1	4320	4320	\$8,750.00	\$8,750.00	\$3,850.00	\$3,850.00	56.00% UNDER	\$5,250.00	\$5,250.00	40.00% UNDER
3	2412.502	16X5 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	17600	35200	\$21,600.00	\$43,200.00	\$18,500.00	\$37,000.00	14.35% UNDER	\$16,000.00	\$32,000.00	25.93% UNDER
4	2412.502	16X6 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	24140	48280	\$24,000.00	\$48,000.00	\$22,000.00	\$44,000.00	8.33% UNDER	\$36,500.00	\$73,000.00	52.08% OVER
5	2412.503	16X5 PRECAST CONCRETE BOX CULVERT	LIN FT	38	2018.6	76706.8	\$1,925.00	\$73,150.00	\$2,075.00	\$78,850.00	7.79% OVER	\$2,500.00	\$95,000.00	29.87% OVER
6	2412.503	16X6 PRECAST CONCRETE BOX CULVERT	LIN FT	38	2002	76076	\$2,050.00	\$77,900.00	\$2,175.00	\$82,650.00	6.10% OVER	\$2,000.00	\$76,000.00	2.44% UNDER
8	2451.507	COARSE FILTER AGGREGATE (CV) (P)	CU YD	267	47.6	12709.2	\$40.75	\$10,880.25	\$63.00	\$16,821.00	54.60% OVER	\$44.00	\$11,748.00	7.98% OVER
9	2451.609	GRANULAR BACKFILL	TON	164	18.4	3017.6	\$13.00	\$2,132.00	\$14.00	\$2,296.00	7.69% OVER	\$18.00	\$2,952.00	38.46% OVER
10	2511.509	RANDOM RIPRAP CLASS III	TON	239	65.4	15630.6	\$60.00	\$14,340.00	\$65.00	\$15,535.00	8.33% OVER	\$50.00	\$11,950.00	16.67% UNDER
11	2563.601	TRAFFIC CONTROL	LUMP SUM	1	1200	1200	\$1,200.00	\$1,200.00	\$750.00	\$750.00	37.50% UNDER	\$1,000.00	\$1,000.00	16.67% UNDER
		SAP 041-599-067 BR#4	1J94 Bridge R	eplacemer	it - PARTI	CIPATING		\$279,552.25		\$281,752.00	0.79% OVER		\$308,900.00	10.5% OVER
		SAP 041-599-0)67 BR#41J94	Bridge Re	placemer	nt - TOTAL		\$290,214.33		\$288,430.00	0.61% UNDER		\$324,120.25	11.68% OVER

SAP	041-599-06	8 BR#41J85 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contract	ting LLC	J	ohn Riley Cons	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
2	2118.509	AGGREGATE SURFACING CLASS 1	TON	218	19.4	4229.2	\$16.25	\$3,542.50	\$16.00	\$3,488.00	1.54% UNDER	\$17.00	\$3,706.00	4.62% OVER
5	2442.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	2700	2700	\$6,250.00	\$6,250.00	\$1,500.00	\$1,500.00	76.00% UNDER	\$4,000.00	\$4,000.00	36.00% UNDER
10	2564.502	INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$100.00	\$200.00	100.00% OVER
11	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	120	3.18	381.6	\$3.35	\$402.00	\$3.10	\$372.00	7.46% UNDER	\$3.10	\$372.00	7.46% UNDER
12	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	S Y	403	1.6	644.8	\$1.60	\$644.80	\$1.50	\$604.50	6.25% UNDER	\$1.50	\$604.50	6.25% UNDER
13	2575.505	SEEDING	ACRE	0.5	1040	520	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER
14	2575.505	DISK ANCHORING	ACRE	0.4	124	49.6	\$135.00	\$54.00	\$120.00	\$48.00	11.11% UNDER	\$120.00	\$48.00	11.11% UNDER
15	2575.508	SEED MIXTURE 21-111	POUND	16	1.2	19.2	\$1.25	\$20.00	\$1.00	\$16.00	20.00% UNDER	\$1.00	\$16.00	20.00% UNDER
16	2575.508	SEED MIXTURE 25-142	POUND	23	3.95	90.85	\$4.35	\$100.05	\$4.00	\$92.00	8.05% UNDER	\$3.75	\$86.25	13.79% UNDER
17	2575.509	MULCH MATERIAL TYPE 1	TON	1	218	218	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER
		SAP 041-599-068 BR#41J85 B	Bridge Replac	ement - NC	DN-PARTI	CIPATING		\$11,950.85		\$6,930.50	42.01% UNDER		\$9,742.75	18.48% UNDER

SAP	041-599-0	68 BR#41J85 Bridge Replacement - PARTICIPATING			Av	erage	Engineer	's Estimate	Mi	dwest Contrac	ting LLC	L	ohn Riley Cons	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
1	2021.50	1 MOBILIZATION	LUMP SUM	1	3700	3700	\$8,000.00	\$8,000.00	\$5,750.00	\$5,750.00	28.12% UNDER	\$5,250.00	\$5,250.00	34.37% UNDER
3	2412.50	2 12X5 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	15480	30960	\$17,400.00	\$34,800.00	\$15,500.00	\$31,000.00	10.92% UNDER	\$17,000.00	\$34,000.00	2.30% UNDER
4	2412.50	3 12X5 PRECAST CONCRETE BOX CULVERT	LIN FT	42	1463.8	61479.6	\$1,475.00	\$61,950.00	\$1,550.00	\$65,100.00	5.08% OVER	\$1,700.00	\$71,400.00	15.25% OVER
6	2451.50	7 COARSE FILTER AGGREGATE (CV) (P)	CU YD	129	47.4	6114.6	\$40.75	\$5,256.75	\$63.00	\$8,127.00	54.60% OVER	\$44.00	\$5,676.00	7.98% OVER
7	2451.60	9 GRANULAR BACKFILL	TON	113	17	1921	\$13.00	\$1,469.00	\$14.00	\$1,582.00	7.69% OVER	\$15.00	\$1,695.00	15.38% OVER
8	2511.50	9 RANDOM RIPRAP CLASS III	TON	179	65.4	11706.6	\$60.00	\$10,740.00	\$65.00	\$11,635.00	8.33% OVER	\$50.00	\$8,950.00	16.67% UNDER
9	2563.60	1 TRAFFIC CONTROL	LUMP SUM	1	1200	1200	\$1,850.00	\$1,850.00	\$750.00	\$750.00	59.46% UNDER	\$1,000.00	\$1,000.00	45.95% UNDER
		SAP 041-599-068 BR#4	1J85 Bridge F	Replacemer	t - PART	CIPATING		\$124,065.75		\$123,944.00	0.1% UNDER		\$127,971.00	3.15% OVER
		SAP 041-599-	068 BR#41J85	5 Bridge Re	placeme	nt - TOTAL		\$136,016.60		\$130,874.50	3.78% UNDER		\$137,713.75	1.25% OVER

SAP	041-599-06	9 BR #41J84 Bridge Replacement - NON-PARTICIPATING			Ave	erage	Engineer	's Estimate	Mi	dwest Contract	ting LLC	L I	ohn Riley Cons	st. Inc
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under
2	2118.509	AGGREGATE SURFACING CLASS 1	TON	162	22.2	3596.4	\$13.25	\$2,146.50	\$16.00	\$2,592.00	20.75% OVER	\$23.00	\$3,726.00	73.58% OVER
5	2442.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	4000	4000	\$4,750.00	\$4,750.00	\$1,500.00	\$1,500.00	68.42% UNDER	\$7,000.00	\$7,000.00	47.37% OVER
8	2502.503	6" PERF PE PIPE DRAIN	LIN FT	20	19.4	388	\$12.50	\$250.00	\$20.00	\$400.00	60.00% OVER	\$12.00	\$240.00	4.00% UNDER
9	2502.602	DRAIN OUTLET DESIGN SPECIAL	EACH	1	730	730	\$500.00	\$500.00	\$450.00	\$450.00	10.00% UNDER	\$400.00	\$400.00	20.00% UNDER
12	2564.502	INSTALL MARKER	EACH	2	86	172	\$50.00	\$100.00	\$50.00	\$100.00	0.00% UNDER	\$100.00	\$200.00	100.00% OVER
13	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	30	3.18	95.4	\$3.35	\$100.50	\$3.10	\$93.00	7.46% UNDER	\$3.10	\$93.00	7.46% UNDER
14	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	S Y	248	1.6	396.8	\$1.60	\$396.80	\$1.50	\$372.00	6.25% UNDER	\$1.50	\$372.00	6.25% UNDER
15	2575.505	SEEDING	ACRE	0.5	1100	550	\$1,275.00	\$637.50	\$1,000.00	\$500.00	21.57% UNDER	\$1,000.00	\$500.00	21.57% UNDER
16	2575.505	DISK ANCHORING	ACRE	0.5	110	55	\$135.00	\$67.50	\$100.00	\$50.00	25.93% UNDER	\$100.00	\$50.00	25.93% UNDER
17	2575.508	SEED MIXTURE 21-111	POUND	31	1.2	37.2	\$1.25	\$38.75	\$1.00	\$31.00	20.00% UNDER	\$1.00	\$31.00	20.00% UNDER
18	2575.508	SEED MIXTURE 25-142	POUND	23	3.85	88.55	\$4.35	\$100.05	\$4.00	\$92.00	8.05% UNDER	\$3.75	\$86.25	13.79% UNDER
19	2575.509	MULCH MATERIAL TYPE 1	TON	1	218	218	\$200.00	\$200.00	\$210.00	\$210.00	5.00% OVER	\$210.00	\$210.00	5.00% OVER
		SAP 041-599-069 BR #41J84 E	Bridge Replac	ement - NO	ON-PARTI	CIPATING		\$9,287.60		\$6,390.00	31.2% UNDER		\$12,908.25	38.98% OVER

SAP 041-599-069 BR #41J84 Bridge Replacement - PARTICIPATING						Average		Engineer's Estimate		Midwest Contracting LLC			John Riley Const. Inc		
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	% Over/Under	Price	Total	% Over/Under	
1	2021.501	MOBILIZATION	LUMP SUM	1	3430	3430	\$8,000.00	\$8,000.00	\$1,900.00	\$1,900.00	76.25% UNDER	\$7,750.00	\$7,750.00	3.12% UNDER	
3	2412.502	14X6 PRECAST CONCRETE BOX CULVERT END SECTION	EACH	2	18850	37700	\$18,900.00	\$37,800.00	\$19,250.00	\$38,500.00	1.85% OVER	\$20,000.00	\$40,000.00	5.82% OVER	
4	2412.503	14X6 PRECAST CONCRETE BOX CULVERT	LIN FT	42	1793	75306	\$1,825.00	\$76,650.00	\$1,875.00	\$78,750.00	2.74% OVER	\$2,000.00	\$84,000.00	9.59% OVER	
6	2451.507	COARSE FILTER AGGREGATE (CV) (P)	CU YD	156	49.8	7768.8	\$40.75	\$6,357.00	\$63.00	\$9,828.00	54.60% OVER	\$49.00	\$7,644.00	20.25% OVER	
7	2451.609	GRANULAR BACKFILL	TON	150	19.4	2910	\$13.00	\$1,950.00	\$14.00	\$2,100.00	7.69% OVER	\$21.00	\$3,150.00	61.54% OVER	
10	2511.509	RANDOM RIPRAP CLASS III	TON	144	65.2	9388.8	\$60.00	\$8,640.00	\$65.00	\$9,360.00	8.33% OVER	\$50.00	\$7,200.00	16.67% UNDER	
11	2563.601	TRAFFIC CONTROL	LUMP SUM	1	1200	1200	\$1,000.00	\$1,000.00	\$750.00	\$750.00	25.00% UNDER	\$1,000.00	\$1,000.00	0.00% UNDER	
	SAP 041-599-069 BR #41J84 Bridge Replacement - PARTICIPATING							\$140,397.00		\$141,188.00	0.56% OVER		\$150,744.00	7.37% OVER	
	SAP 041-599-069 BR #41J84 Bridge Replacement - TOTA							\$149,684.60		\$147,578.00	1.41% UNDER		\$163,652.25	9.33% OVER	

	Enrineer's Estimate	A&C Excavating	R&G Construction	Towne & Country Exca.	Midwest Contracting LLC	John Riley Const. Inc
SAP 041-599-064 BR#41J80 Bridge Replacement - NON-PARTICIPATING	\$10,545.68	\$9,148.40	\$8,859.40	\$11,427.00	\$6,534.90	\$12,916.40
SAP 041-599-064 BR#41J80 Bridge Replacement - PARTICIPATING	\$123,606.75	\$115,675.00	\$124,530.00	\$125,675.00	\$141,597.00	\$140,069.00
SAP 041-599-064 BR#41J80 Bridge Replacement - TOTAL	\$134,152.43	\$124,823.40	\$133,389.40	\$137,102.00	\$148,131.90	\$152,985.40
% of Estimate for Project SAP 041-599-064		-6.95%	-0.57%	2.20%	10.42%	14.04%
	-					
SAP 041-599-065 BR#41J81 Bridge Replacement - NON-PARTICIPATING	\$15,791.70	\$15,654.13	\$16,048.09	\$22,485.25	\$11,494.10	\$19,290.13
SAP 041-599-065 BR#41J81 Bridge Replacement - PARTICIPATING	\$123,796.00	\$126,100.00	\$133,494.00	\$135,621.00	\$150,341.00	\$158,422.00
SAP 041-599-065 BR#41J81 Bridge Replacement - TOTAL	\$139,587.70	\$141,754.13	\$149,542.09	\$158,106.25	\$161,835.10	\$177,712.13
% of Estimate for Project SAP 041-599-065		1.55%	-0.57%	2.20%	15.94%	27.31%
	1					
SAP 041-599-066 BR#41J82 Bridge Replacement - NON-PARTICIPATING	\$15,890.30	\$12,100.41	\$10,922.41	\$21,361.00	\$10,123.00	\$16,108.41
SAP 041-599-066 BR#41J82 Bridge Replacement - PARTICIPATING	\$108,899.00	\$99,652.00	\$109,120.00	\$109,936.00	\$109,224.00	\$124,788.00
SAP 041-599-066 BR#41J82 Bridge Replacement - TOTAL	\$124,789.30	\$111,752.41	\$120,042.41	\$131,297.00	\$119,347.00	\$140,896.41
% of Estimate for Project SAP 041-599-066		-10.45%	-3.80%	5.21%	-4.36%	12.91%
	¢10.002.00	67.000.0F	ćo 700 25	\$12,738.00	\$6.678.00	\$15.220.25
SAP 041-599-067 BR#41J94 Bridge Replacement - NON-PARTICIPATING	\$10,662.08	\$7,988.25	\$8,790.25	, , , , , , , , , , , , , , , , , , , ,	1.,	1 - 7
SAP 041-599-067 BR#41J94 Bridge Replacement - PARTICIPATING	\$279,552.25	\$250,135.00	\$259,231.00	\$265,683.00	\$281,752.00	\$308,900.00
SAP 041-599-067 BR#41J94 Bridge Replacement - TOTAL	\$290,214.33	\$258,123.25	\$268,021.25	\$278,421.00	\$288,430.00	\$324,120.25
% of Estimate for Project SAP 041-599-067		-11.06%	-7.65%	-4.06%	-0.61%	11.68%
SAP 041-599-068 BR#41J85 Bridge Replacement - NON-PARTICIPATING	\$11,950.85	\$7,860.75	\$7,602.75	\$12.989.50	\$6.930.50	\$9.742.75
SAP 041-599-068 BR#41J85 Bridge Replacement - PARTICIPATING	\$124,065.75	\$103,440.00	\$113,742.00	\$116,312.00	\$123,944.00	\$127,971.00
SAP 041-599-068 BR#41J85 Bridge Replacement - TOTAL	\$136,016.60	\$111,300.75	\$121,344.75	\$129,301.50	\$130,874.50	\$137,713.75
% of Estimate for Project SAP 041-599-068	\$150,010,00	-18.17%	-10.79%	-4.94%	-3.78%	1.25%
·	•					
SAP 041-599-069 BR#41J84 Bridge Replacement - NON-PARTICIPATING	\$9,287.60	\$8,258.25	\$9,556.25	\$14,524.00	\$6,390.00	\$12,908.25
SAP 041-599-069 BR#41J84 Bridge Replacement - PARTICIPATING	\$140,397.00	\$125,190.00	\$134,556.00	\$136,840.00	\$141,188.00	\$150,744.00
SAP 041-599-069 BR#41J84 Bridge Replacement - TOTAL	\$149,684.60	\$133,448.25	\$144,112.25	\$151,364.00	\$147,578.00	\$163,652.25
% of Estimate for Project SAP 041-599-069		-10.85%	-3.72%	1.12%	-1.41%	9.33%
Contract 01-2023 - TOTAL	\$974,444.96	\$881,202.19	\$936,452.15	\$985,591.75	\$996,196.50	\$1,097,080.19
% of Estimate for Contract 01-2023		-9.57%	-3.90%	1.14%	2.23%	12.59%